Assiut University

Faculty of Science

Geology Department

Final Exam for 1°* grade Students

16 June 2008

Time allowed: 90 Minutes

Instructor: Prof. Dr. Mervat A. Elhaddad

G112 Mineralogy

1- This mineral is mined for rock salt and table salt (one point)

2- What are the physical properties related to the Crystalline
structure and bonding in this mineral (4 points)

3- Which minerals are higher in silica oceanic crust minerals or
continental crust minerals ? (two points)

4- Mostly black, forms long, slender crystals with 2 cleavages at
60° and 120°. What is the name of this mineral group? (two points)

o- Bonded with iron and magnesium, makes up much of the
mantle, Fe/Mg rich >50% , Silica poor <45% . What is the name of
this mineral ? (two points)



b- Single Chain Silicate structure , bonded with Fe, Mg, Ca, and
Al, found in Oceanic Crust, Fe/Mg/Ca rich , Silica poor. What is the
name of this mineral group ? (two points)

7 A sheet structure silicate available in many soils. What is the
name of this group of minerals? (two points)

8- Find from the lettered choices on the left that one which match
from the right hand side (5 points)

Resistant to alteration by weathering

a. clay

2 Most silicates weather to this mineral

b. Single elements

3. Deposited in shallow tropical seas be shellfish and coral

c. Halite

4. Deposited by evaporating seas
d. Carbonates

5. Diamond, Graphite, Gold, sulfur
€. quartz

9- If a mineral has three different elements, how many possible

bond types can it have? (three points)

10-  Which mineral has a glassy luster (two points)
a. Graphite

b. Quartz

C. Pyrite

d. Copper

11- Which type of sedimentary rock is made of sand particles? (two
points)

a. Sandstone

b. Coal

c. Conglomerate

d. Limestone

12- Name that mineral (15 points)

formula mineral name
ZnsS

Cﬂ5{PDq)3{F,C|,GH}



NaAlSi;Og
CuFes;

SiO;

FE}Dq

Mg,Si0.

FeS
CEIEMQESFEGEQ[DH}E
PbS

CaCOs
CaS04¢2H-50
Mg3Sis010(OH);
FECI'E G-q

Au

13- What is the significance of Moh's scale? List it in the correct order,
Why do some minerals rank higher or lower on the scale? What causes the
differences ?( 10

Points)

14- List all possible crystal systems (six points)

15- Consider these minerals/compounds (8 points)
spinel MgAI204

enstatite Mg2Si206

corundum AI203

pyrope Mg3AI2Si3012

quartz Si02

kyanite Al2Si05

sillimanite AI2SiO5

andalusite AlI2Si0O5

la. Which, if any, of the above, are silicates?

1b. Which, if any of the above, are pyroxenes?

1c. Which, if any, of the above, are sheet silicates?
1d. Which, if any, of the above, are polymorphs

Enjoy !!!!
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Assiut University Faculty of Science June, 2008
Faculty of Arts First Year, All Sections Time: 2 Hours

Department of English English Language Exam.

Answer the following questions:
I- Write a paragraph on One only of the following: (10 marks)
1- Unemployment 2-Malnutrifion 3- Smoking

li- Read the following passage then answer the questions below:
(15 marks)

A certain scientist had discovered that a metal called uranium gave off a kind
of radiation, which Marie Curie was later to call radio-activity. But where did this
radiation come from, and what was it like? Here was a secret of nature which she set
out to discover. Only a scientist could understand all that this pursuit meant. The
experiments were done most carefully again and again. There was failure, success,
more failure. a little more success. All seemed to prove that in the mineral which she
was examining there was some form of radiation which man knew nothing about.

Four years before this, Marie had expressed her thoughts in words much like
these: "Life is not easy for any of us. We must work, and above all we must believe in
our selves. We must believe that each one of us is able to do something well, and that,
when we discover what this something is, we must work until we succeed. "This
something in Madame Curie's own life was to lead science down a new path to a great
discovery

At this time her husband left his own laboratory work, in which he had been
very successful, and joined with her in her search for this unknown radiation. In 1898
they declared that they believed there was something in nature which gave out radio-
activity. To this something, still unseen, they gave the name radium. All this was very
interesting, but it was against the beliefs of some of the scientist of that day. These
scientists were very polite to the two Curies, but they could not believe them. The
common feeling among them was: "Show us some radium, and we will believe you."

There was an old building at the back of the school where Pierre Curie had
been working. Its walls and roof were made of wood and glass. It was furnished with
some old tables, a blackboard, and an old stove. It was not much better than a shed,
and no one else seemed to want it. The Curie moved in, and set up their laboratory
and workshops. Here for four very difficult years they worked, every moment that
they could spare, weighing and boiling and measuring and calculating and thinking,
They believed that radium was hidden somewhere in the mass of mineral dirt which
was sent to them from far away. But where?

The shed was hot in summer and cold in winter, and when it rained, water
dropped from the ceiling. But in spite of all the discomforts, the Curies worked on.
For them these were the four happiest years of their lives.

See Second Page



Then, one evening in 1902, as husband and wife sat together in their home.
Marie Curie said: "let's go down there for a moment. "It was nine o' clock and they
had been "down there" only two hours before. But they put on their coats and were
soon walking along the street to the shed. Pierre turned the key in the lock and opened
the door. "Don't light the lamps," said Marie, and they stood there in the darkness.
"look! . . Look!"

And there, glowing with faint blue light in the glass test-tubes on the tables.
was the mysterious something which they had worked so hard to find: Radiam.

Questions:
|- Give the passage a suitable title.
2- What did Madame Curie want to discover?

(a) uranium (b) radiation
(¢) radio-activity (d) radium

3- What was radium supposed to give off?

(a) a kind of radiation (b) light

(c) fire (d) oxygen

4- How long did the Curies work in the shed?
(a) three years _ (b) four years
(¢ ) five years (d) six years

5- What happened in 1902?
(a) They had their first baby.
(b) They met an old friend in the street.
(¢ ) They discovered radium.  (d) They bought a new car.
ITI- Translate the following from English into Arabic: (10 marks)
In the desert, agriculture is possible only in cases, or where
irrigation can be employed. The date is the chief food tree of this region,
and 1s found on all oases. A great variety of other crops can be grown
wherever water is obtainable. Egypt itself may be regarded as one great
oasis. lts fertility has been proverbial from earliest times. It produces
cotton, cereals, fruits and many other crops. Even in the Nubian Desert,
great attention is paid to agriculture.
IV- Grammar:
Choose the correct answer: (15 marks)

|- I (made / was making) a cake when the light went out.

2- It has been very foggy (for / since) early morning.

3- I completely agree (with / on) you!

4- [ learnt to ride a bike ( as / when) I was a boy.

3- It (needs / takes) an hour to get to the airport.

6- The last train (left / leaves) the station at 11.30.
Examiners: Dr Manal M. Abdel Nasser / Dr Nadia A Hasan

Good Luck
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Assiut University Faculty of Science June, 2008
Faculty of Arts First Year, All Sections ~ Time: 2 Hours

Department of English English Language Exam.

Answer the following questions:

I- Write a paragraph on One only of the following: (10 marks)
1- Unemployment 2-Malnutrition 3- Smoking

11- Read the following passage then answer the questions below:
(15 marks)

A certain scientist had discovered that a metal called uranium gave off a kind
of radiation. which Marie Curie was later to call radio-activity. But where did this
radiation come from, and what was it like? Here was a secret of nature which she set
out to discover. Only a scientist could understand all that this pursuit meant. The
experiments were done most carefully again and again. There was failure, success,
more failure. a little more success. All seemed to prove that in the mineral which she
was examining there was some form of radiation which man knew nothing about.

Four years before this, Marie had expressed her thoughts in words much like
these: "Life is not easy for any of us. We must work, and above all we must believe in
our selves, We must believe that each one of us is able to do something well, and that,
when we discover what this something is, we must work until we succeed. "This
something in Madame Curie's own life was to lead science down a new path to a great
discovery

At this time her husband left his own laboratory work, in which he had been
very successful, and joined with her in her search for this unknown radiation. In 1898
they declared that they believed there was something in nature which gave out radio-
activity. To this something, still unseen, they gave the name radium. All this was very
interesting, but it was against the beliefs of some of the scientist of that day. These
scientists were very polite to the two Curies, but they could not believe them. The
common feeling among them was: "Show us some radium, and we will believe you."

There was an old building at the back of the school where Pierre Curie had
been working, Its walls and roof were made of wood and glass. It was furnished with
some old tables, a blackboard, and an old stove. It was not much better than a shed,
and no one else seemed to want it. The Curie moved in, and set up their laboratory
and workshops. Here for four very difficult years they worked, every moment that
they could spare, weighing and boiling and measuring and calculating and thinking.
They believed that radium was hidden somewhere in the mass of mineral dirt which
was sent to them from far away. But where?

The shed was hot in summer and cold in winter, and when it rained, water
dropped from the ceiling. But in spite of all the discomforts, the Curies worked on.
For them these were the four happiest years of their lives.

See Second Page



Then, one evening in 1902, as husband and wife sat together in their home,
Marie Curie said: "let's go down there for a moment. "It was nine o' clock and they
had been "down there" only two hours before. But they put on their coats and were
soon walking along the street to the shed. Pierre turned the key in the lock and opened
the door. "Den't light the lamps," said Marie, and they stood there in the darkness.
"look! .. Look!"

And there, glowing with faint blue light in the glass test-tubes on the tables.
was the mysterious something which they had worked so hard to find: Radium.

Questions:

|- Give the passage a suitable title.
2- What did Madame Curie want to discover?

(a) uranium (b) radiation
(¢) radio-activity (d) radium

3- What was radium supposed to give off?

(a) a kind of radiation (b) light

(c) fire (d) oxygen

4- How long did the Curies work in the shed?
(a) three years (b) four years
(c ) five years (d) six years

5- What happened in 1902?
(a) They had their first baby.
(b) They met an old friend in the street.

(¢ ) They discovered radium.  (d) They bought a new car.
ITI- Translate the following from English into Arabic: (10 marks)

[n the desert, agriculture is possible only in cases, or where
irrigation can be employed. The date is the chief food tree of this region,
and 1s found on all oases. A great variety of other crops can be grown
wherever water is obtainable. Egypt itself may be regarded as one great
oasis. lts fertility has been proverbial from earliest times. It produces
cotton, cereals, fruits and many other crops. Even in the Nubian Desert,
great attention is paid to agriculture.

IV- Grammar:
Choose the correct answer: (15 marks)
I- I (made / was making) a cake when the light went out.
2- It has been very foggy (for / since) early morning.
3- I completely agree (with / on) you!
4- I learnt to ride a bike ( as / when) I was a boy.
5- It (needs / takes) an hour to get to the airport.
6- The last train (left / leaves) the station at 11.30.

Examiners: Dr Manal M. Abdel Nasser / Dr Nadia A Hasan
Good Luck
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PROMPT "How much money did you make last year"; Amount$
Question #1 3y es0wed = Amounts * .95 3.0 points
PRINT "“This is how much tax you owe ="; TaxesOwed

Will the program written above run correctly, if yes what would be the output
_result if no indicate why? A e

Code 8 _Ips_truction't_léscrlptinn
FORI=1TO 15
A PRINT SPACES(l + 4); Message$ :
ntial
NEXT 1 Sequentia
END

sz

PRINT “This program prints a message”
PRINT “choosing, on the screen.”

B PROMPT "What message “; Message$ B
PROMPT "Display message in all
UPPERCASE (type U) or
LOWERCASE (type |)?"; WhatCase$
IF WhatCase5 = “U" THEN

Message$ = UPPERS(Message$)
END IF
C IF WhatCase5 = "I" THEN 3 Looping
Message$ = LOWERS(Message$)
END IF

Branching

Question #2 3.0 points

There are 3 types of code in the column Code, A, B, and C in the table above, match
each type of code with its correct description 1, 2, and 3 in its neighboring column

_____ Instruction Description.

| PRINT “What is your name?"
2 INPUT name
3.0 points
Question#3 3 PRINT name + ”, hope you did well in the exam.” pal
4 END

Will this program run correctly? (YES, NO), if NO state why

Complete the following sentence:
Question #4 is a command used to run a subroutine. 3.0 points

NOMAINWIN
PROMPT "Give me your name:"; name$s
CALL Make Message names
MOTICE name$
END
Question #5 SUB MakeMessage stuff$ 3.0 points
stuffé = UPPERS(stuff$)
END 5UB

What is the purpose of the program above, will it return the expected output, if yes
what should it be, if no, state why, and what should be done to correct it.




Question #£6

PRINT "What is your name?"
INPUT Mynames$
PRINT MyName$ + " says hello”
¥ 3.0 points
Running the program above will result on printing what, if it doesn’t print anything
what could be the reason?

Question #7

Is the output of PRINT 3%4 similar to the output of PRINT n3*q" ? (YES, or NO), if

NO, what both outputs would be. 3.0 points

e —— - = —————

Question #8

AStrings =" Hello, there! ™
PRINT LEN(AString$)
TempString$ = TRIMS(AString3)
PRINT LEN (Temp5tring$) g
END 3.0 points

The string " Hello, therel * has 3 leading and 3 trailing spaces, what would

Question #9

both line 2 and 4 print. ol ‘

Complete the followi n :
mplete the following sentence 3.0 points

number of spaces that you want to insert.

Question #10

is the function used for inserting a number of spaces where X represents the l

Names$ = "Ahmad, Ali, Mustafa, Michael, Emad, Reham, Hoda"

Position = INSTR(Names$, "Ahm ad", B)

PRINT Position

END 3.0 points

What is the output of the program above, what should be done to locate the

position of “Ahmad”?

Question #11

=1

y=2
PRINT stré(x) + stri(y) 3.0 points

What is the result of the code listed above?

Question #12

Question #13

PROMPT "How much money did you make"; Salary
PROMPT "How much money did you donate to poor”; Charity
IF (Salary > 500) AND {Charity > 700) THEN
PRINT "You don't need to pay any taxes."
END IF
END
3.0 points
A. What would be the output of the program above for the following values:
Salary (100, 900, 500, 900), Charity (700, 100, 900, 900)?
B. What would be the output if AND become OR for the following values:
Salary (501, 100, 900, 800) and Charity (300, 50, 800, 900)7
c. What would be the output if AND become XOR for the following values:
Salary (120, 100, 400, 800) and Charity (300, 1500, 800, 900)?

=l
WHILET1 <5
PRINT "This locks like a loop.”
WEND 3.0 points
END

What is wrong about this loop? What is the name of a loop like the one above?
What is missed, and where should it be located?

— e ———— e e e e — —_— e —



FORI=1TO 10
PRINT "The squareof "; I; "is ;1 *1

Question #14 bl 3.0 points
Will the program listed above run correctly? (YES, or NO), if YES what should be the
result, if NO what should be done to make it run correctly?
FORI= ___TO___ STEP__
PRINT "The value of 1= "; |
NEXT
In the program listed above, what are the values that should be filling the blanks in
order to get the following output:
The value of I = 12
Question #15 The value of | = 9 3.0 points
The value of I = 6
The value of I = 3
The value of 1 =0
The value of | = -3
The value of I = -6
The value of | =-9
The value of | = -12 i
YearBorn$ = "1989" e .
Notice "Your age is " ; 2008-YearBorn$
Question #16 3.0 points
Will the program listed above run correctly? (YES, or NOJ, if YES what should be the
O _____result, if NO what should be done to make it run correctly? S
PROMPT "How |"r||an"||I stamps do you have? "; Answer VL]
SELECT CASE Answer
CASE1,2,3,4,5
NOTICE "You need more stamps."”
CASES, 6,7, 8,9
NOTICE "You still need more stamps.”
Question #17 CASE ELSE 3.0 points
NOTICE "Now you are a collector”
END SELECT
END
What would be the output of the program above for the following input values:
_ Answer=2,4,5,8,and 117
~ WHILEI <5
I=1
PRINT "This looks like another loop."”
I=1+1
Question #18 WEND 3.0 points
END
Will the loop listed above run correctly? (YES, or NO), if yes what would the output
be, if no, say why, correct it and then list the output. L e
gl 1 FOR I =1 to 100
2 PRINT "Thisis1=";1
3
Question #19 : ;‘E:T 3.0 points
In code above line 3 is missed, what should be written In it so the for loop exits
prematurely at 15. [P.T.0.]




Question #20

NOMAINWIN

PROMPT "Type a number:"; mynumber
NOTICE "This is the cube = "; Cube(mynumber)

END

The code listed above has the Cube function missed: write the Cube function so the

program runs curreﬁf_;r.

| Question #21

REM B=4
REM C=10

REM  A=SQR((B*B)+(C+C))

REM Print A
REM END

What is the output of the code listed above?

3.0 points

3.0 points

Question #22

PRINT ((3+4)~5/3-8)/5*-7
PRINT(3+4A5/3-8)/5*-7
PRINT3+4A5/3-8/5%*-7

What are the outputs of the 3 lines of code listed above?

3.0 points

Question #23

1 santence’ = "The Great River Nile"
2 Sentence$ = (Sentence$, _)
3 PRINT "Our river's name is "; Sentence$

If the requested output from the code above is only the word Nile next to the
sentence “Our river's name is”, what should be filling the blanks in line 27

3.0 points

Question #24

PROMPT "What is the password"; Password$

WHILE Password$ <> "Password$"
PRINT "Wrong password, Try again.”

PROMPT “What is the password"; Password5

WEND

PRINT “You typed the correct password!”

END

In the program above what is the correct password that should be typed so the
sentence “You typed the correct

password!" prints out?

Question #25

Write a program where the inpu

satisfying the table below

¥ Score is

@Ereater than 89

From B0 o 89
From 70to 79
From 60 1o 69

Less than GO

i
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End of Exam, Good Luck
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Assiut Unmiversity Faculty of Science June, 2008

Faculty of Arts First Year, All Sections  Time: 2 Hours

Department of English English Language Exam.

Answer the following questions:

[- Write a paragraph on One only of the following: (10 marks)
1- Unemployment 2-Malnutrition 3- Smoking

11- Read the following passage then answer the questions below:
(15 marks)

A certain scientist had discovered that a metal called uranium gave off a kind
of radiation, which Marie Curie was later to call radio-activity. But where did this
radiation come from, and what was it like? Here was a secret of nature which she set
out to discover. Only a scientist could understand all that this pursuit meant. The
experiments were done most carefully again and again. There was failure, success,
more failure. a little more success. All seemed to prove that in the mineral which she
was examining there was some form of radiation which man knew nothing about.

Four years before this, Marie had expressed her thoughts in words much like
these: "Life is not easy for any of us. We must work, and above all we must believe in
our selves. We must believe that each one of us is able to do something well, and that,
when we discover what this something is, we must work until we succeed. "This
something in Madame Curie's own life was to lead science down a new path to a great
discovery.

At this time her husband left his own laboratory work, in which he had been
very successful, and joined with her in her search for this unknown radiation. In 1898
they declared that they believed there was something in nature which gave out radio-
activity. To this something, still unseen, they gave the name radium. All this was very
interesting, but it was against the beliefs of some of the scientist of that day. These
scientists were very polite to the two Curies, but they could not believe them. The
common feeling among them was: "Show us some radium, and we will believe you."

There was an old building at the back of the school where Pierre Curie had
heen working. Its walls and roof were made of wood and glass. It was furnished with
some old tables, a blackboard, and an old stove. It was not much better than a shed,
and no one else seemed to want it. The Curie moved in, and set up their laboratory
and workshops. Here for four very difficult years they worked, every moment that
they could spare, weighing and boiling and measuring and calculating and thinking,
They believed that radium was hidden somewhere in the mass of mineral dirt which
was sent to them from far away. But where?

The shed was hot in summer and cold in winter, and when it rained, water
dropped from the ceiling. But in spite of all the discomforts, the Curies worked on.
For them these were the four happiest years of their lives,

See Second Page



Then, one evening in 1902, as husband and wife sat together in their home,
Marie Curie said: "let's go down there for a moment. "It was nine o' clock and they
had been "down there" only two hours before. But they put on their coats and were
soon walking along the street to the shed. Pierre turned the key in the lock and opened
the door. "Don't light the lamps," said Marie, and they stood there in the darkness.
"look! . .. Lool!"

And there, glowing with faint blue light in the glass test-tubes on the tables,
was the mysterious something which they had worked so hard to find: Radium.

Questions:

|- Give the passage a suitable title.
2- What did Madame Curie want to discover?

(a) uranium (b) radiation
(¢) radio-activity (d) radium

3- What was radium supposed to give off?

(a) a kind of radiation (b) light

(c ) fire (d) oxygen

4- How long did the Curies work in the shed?
(a) three years (b) four years
(¢ ) five years (d) six years

5- What happened in 1902?
(a) They had their first baby.
(b) They met an old friend in the street.

(¢ ) They discovered radium.  (d) They bought a new car.
I11- Translate the following from English into Arabic: (10 marks)

[n the desert, agriculture is possible only in cases, or where
irrigation can be employed. The date 1s the chief food tree of this region,
and is found on all oases. A great variety of other crops can be grown
wherever water i1s obtainable. Egypt itself may be regarded as one great
oasis. Its fertility has been proverbial from earliest times. It produces
cotton, cereals, fruits and many other crops. Even in the Nubian Desert,
great attention 1s paid to agriculture.

IV- Grammar:
Choose the correct answer: (15 marks)
|- | (made / was making) a cake when the light went out.
2- It has been very foggy (for / since) early morning,
3- | completely agree (with / on) you!
4- 1 learnt to ride a bike ( as / when) I was a boy.
5- It (needs / takes) an hour to get to the airport.
6- The last train (left / leaves) the station at 11.30.

Examiners: Dr Manal M. Abdel Nasser / Dr Nadia A Hasan
Good Luck
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